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Plot Sensor and FgRec Data
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Plot EC/PH from runoff
1e6

—&— FVIECT_Ex10%

FVOEC1_E2
&>
D
D [ C Z
T T T T T T T
10.6 10.8 11.0 11.2 11.4 11.6 11.8
day

—O— FVIPH1_E*10%
FVOPH1_E2

10. 6 10. 8 11.0 11.2 11.4 11.6 11.8
day




"LAI’, 'optEtRate’]

"optETcl’ ],

R T

['ETcl’,

"RHopt’ ],

N

' V‘J\Af\[/\rJ fl M VY

[T, "Topt’], ['RH,

"lopt’ ],

Plot [['I",

lopt |

\ [T —

—

|

N

400
300
200

100

175

150

125

100

75

50

25

——  Topt

RH

RHopt

W

175

175

150

—— ETcl

optETcl

LA

175

150

175

150

optEtRate

150

125

125

100

\\_/‘t

125

100

125

100

VAV WA

100

NS

AWARLY

A

A

75

75

75

75

50

50

W

50

N\

50

VTN

N

25

25

25

25

30.0

27.5

25.0

22.5
20.0

17.5
15.0
12.5

80

70

60
50
40

1500

1000

500

3.0

5
0

2.5
2.0
1.
1.
0.5

2

1.

1.0
0.8
0.6
0.4

175

150

125

100

75

50

25



Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',

"s1SetVI' 1]

250 ] I —
: —@— setVI_ETcl
1 —0— setVl_fgRec
200 , —0— setVIW |
* / \ 1 —@— slSetVI
150 D P O O
\\ / x"“K\\'\‘ [ 2 o o—8—9 © © 9
‘ =9
100 - 1
<|.."'4-! - /"! 1
s 1
o0 | . e e o o B = < !
= D = == o |
—e—&— oo i
= —_— 1
0 - y w W W N I I 1
0 5 10 15 20 25 30 35
d



1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.
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